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80313 65,50 6.89 6.16 31 ACLIEE = -4,23

I BIERA (5) R, W
AGY=AGY~ A5, (T -208) +

T

798

=35184-4,189x75~4,23 x8,75=34506,8

+ACS |,y (T -298-Tln

1R
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AGy= -2FE° = - 2F (94 / 2~ @h+/up)

L)
Pt/ 2= -SFG%d gsfgggsg =~ 0.757fK
A o) FTBFH A
Pt/ = = 0,757 +2'—"?~%-R—~Tiogaz,2+
= 0,757 +0.037logaz?* @

2) RWZnO +2H e==2Zn* + H,OE g FF8, HPHEREN
pH=pH" - ;11— log az*
MU HEAKE

- 5
. 2 XILTIH1.22X10°(373 +298) ~ 2,18 X 10 (3,1,32 298,)
CPtZuO}tggs * SV

2
=10,11}
55fid
Zn0 +  2H* == Im*  + H,0
15 0s - 76050 0 - 35184 -56690 AGl,= —15824
Stes 10,5 F 0 - 24,45 16,716 ASie,=-19,234
pliR 10011 3t 65.50 18,03  ACL|¥3=11,42

A (5) FoRiE
AG3,y= ~15824 +19,234 X 75~ 8,75 X 11,42 = — 14481,38

]
__~AGEs 14481.38 L
PHYn = 5303 mRT ~ 3 %3.303x1.087 %373 4r2¢
FIF 124 B2 W B S 8 2R 4 2
PH%,;g: 4.24"%‘10932112* @)

3) RRNZnO+2H* + 2 ex=>2Zn+ H,0 S5k 5 ey 18 41 BRI B it S L G 04
Zn0 + H, == UZn + H,0

f2os - 76050 0 0 - 56690 A G2 =19360
S 10,5 31,211 9,95 16.716 A8 = —15,045

Cpiiy 10,11

.08 ~

. 6.89 6.16 18,03 ACE |513=7.19
WA (5) g
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